Name:  _____________________________ (please print)
Signature: __________________________

ECE 2202 – Quiz #2A
September 24, 2019

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.
3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.     


________________/20

Room for extra work
[bookmark: OLE_LINK1]
The circuit shown had the switch closed for a long time, before it opened at t = 0.  
a) Find iQ(0+).
b) Find vX(0+).
c) Find the power delivered by vS2 at t = 0+.
  





Room for extra work



Solution:
The circuit shown had the switch closed for a long time, before it opened at t = 0.  
a) Find iQ(0+).
b) Find vX(0+).
c) Find the power delivered by vS2 at t = 0+.
[image: ]
[image: ]
[bookmark: _GoBack][image: ]



image4.png
b) We take KVL +o get

U (0*) ~ Uz (0) + (¢ (0%) 6.50kn] - [, g (0) 8353 =0

lf[o) —8/6[u}+’7élfmA_}g g§k2) ~ 439 §mA) 8852

¢) Vee(o) + {x(o*)

KVL avound +he IooP gives
Bgfk)—g—ggkﬂjéa(o'*) +é\x(04)2‘7[kﬂ]:0

"?éﬁf\/j F Zg(olf)(g[kﬂﬁ +22.835v) = O

;(_‘X(O +> - - /3;1;{[‘;/33

49051_.6‘/. V34 2(3 [kn3 lia)&x)

Poec ey (ot) = (ien3) (-7.615m83) (-2.195for83)

= =d.l 75'[w1A3

=/50.1 [(mw]





image1.emf
C

E

= 

560[

m

F]

6.8[k



]

v

X

+

-

i

S1

= 

12[mA]

2.2[k



]

2.7[k



]

3.3[k



] 8.2[k



]

v

S2

= 

3[k

W

]i

Q

+

-

i

Q

t= 0

7.5[k



]

+

-

v

S1

= 

12[V]

L

A

= 

5.6[mH]

C

D

= 220[

m

F]

L

B

= 

4.7[mH]


oleObject1.bin
RX=
#[]


2.2[k]


17vW


+


-


7[A]


+


-


7[V]


t = 2[s]


CX =  10[F]


LX =  3.3[mH]


LB = 4.7[mH]



image2.png
S b e e e e

— - Cjy=220[pF]

3.2k

- |
12V S e Subeircurt A

-~ - -

WC L)es;n Ly o(e'ﬁn;nj 'Hue \/o/i‘qﬁes acvo<Ss the

CQFC{CH:O"S, and the curreats t};r‘oujh the
In ﬂﬂlo‘l%"on)

l‘V\O‘mc’tof‘S) i the civcat above.

we note that the three componeats in Subeiveuit A

ove in secies with a curreat Source, and we ave

look?ﬂﬂ outside the Series COMAIna‘If»on.

Cawn vremove Subciveuwt AL With 'H""t) we vedraw

So we

for é<o) Y‘Cplacfﬂj the inductors with short

circuts and Ca})ac;‘fo/‘-“ with OFE” circurts.




image3.png
Redv/‘aml €o i:<O}

tlUeplo) AL Q7(kn3
1344 6.8(kn)

8.5k

lq:—)a[mAj) So

lig (0) = -3L803
A2 [k + R.70kn3 +3.3 (k9

:‘17'. 37[»4/4}

U_cg(o) = ZLBZO) (g_gzkﬂ:z): -9.6 5-7[(/]

Uen (o) = (a(6.80k23) = -816§v)
Next) we redvaw for t>€f

8.2k} 33k )

&) La(0%) = - 12fmA) - {15 (0) =[-761£mA3]





